Maths Hot stuff!
You need to complete both sections

Section 1 -

1. 200,000 - 46,834 =153,166
2. 8=56 =7

3. 4784 x6=28,704

4. 653,829 + 681,936 = 1,335,765
5.3x 12= 6x6

6. What is the difference between
-15 and 7? Show your answer on a humber

line:
+15 ﬁ =22

-15 0 7

Section 2 -

1. What is the difference between 63,793

and 9,258?

2.

54,535

Round 463,451 to the nearest 10
(463,450), 100 (463,500), 1000
(463,000) and 10,000 (460,000)

MMMD - CML = MMCCL
3500 950 2,250

960 x 1000 = 960,000

Mrs Brown buys 140 new footballs.
They cost £8 each. How much change
will she get from £1500?

They will cost £1,120. She would get £380
change




